160km2# 16 74=v a2 MBEREA L

RETIERE XREOERE THERR MERE  EEX

FEIKIE 0.0 5:30 BEIKZE 0.0 5:50
23.0 17.0 1:21 23.0 18.0 1:16

e 23.0 0:20 711 Y= 23.0 0:20 7:26
20.0 17.0 1:10 20.0 18.0 1:06

KHT 43.0 0:20 8:41 KET 43.0 0:20 8:53
23.0 17.0 1:21 23.0 18.0 1:16

518 66.0 0:20] 10:22 BFARH 66.0 0:20{ 10:30
215 20.0 1:04 215 20.0 1:04

=ES 87.5 0:30| 11:57 =ES 87.5 0:30| 12:04
14.0 16.0 0:52 14.0 18.0 0:46

BER | 1015 0:20] 13:09 FAH 10156 0:201 13:11
34.0 25.0 1:21 34.0 25.0 1:21

LZEF | 13565 0:20| 14:51 LZEF | 13565 0:20] 14:52
19.0 18.0 1:03 19.0 18.0 1:03

FEIKIE 1545 15:54 BEIKZE 154.5 16:56

160km3# 16F 7=y a1 DB REZA L
ISR REERM XREEM THORE FERRE  RHL

160km4#f 16B 74—y aDBEXRS1 L

TR REER XREES THRE MERE  ZER

FEIKFE 0.0 6:10 FEKTE 0.0 6:30
23.0 19.0 1:12 23.0 20.0 1:09

e 23.0 0:20 1:42 e 23.0 0:20 7:59
20.0 19.0 1:03 20.0 20.0 1:00

KHT 43.0 0:20 9:05 KHT 43.0 0:20 9:19
23.0 19.0 1:12 23.0 20.0 1:09

FARH 66.0 0:201 10:38 FAH 66.0 0:201 10:48
215 23.0 0:56 215 25.0 0:51

B85 87.5 0:30] 12:04 B85 87.5 0:301 12:09
14.0 16.0 0:62 14.0 20.0 0:42

FAM | 1015 0:20] 13:17 FAM | 1015 0:201 13:11
34.0 26.0 1:18 34.0 26.0 1:18

ZEF [ 1355 0:20] 14:55 ZEF [ 1355 0:201 14:50
19.0 18.0 1:03 19.0 18.0 1:03

REk3G | 1545 15:58 REK3E | 1545 15:63

————
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